(2) 3/4'x107x12”

(4) 7/5"8 A325 BOLTS

PLATE

WITH (4) 1”0 HOLES 5”
EACH WAY—\

(N) W10 COLUMN

SEE PLAN FOR EOS

| TOC EL. 145107

WANN

_— (N) w18
v \

/(N) W1

REMOVE (E) CONC. SLAB AS NEEDED TO
INSTALL (N) COLUMN & REPLACE CONC. SLAB

8

TOC EL. 143-8"

<

pa) ZT 2

\
< A t Eié;;
[ )

N N
4
£

35"

(A

3%

/ 4 —4q
o

(E) W24x62
b

\"x
1/5" STIFFENER PLATE

(BOTH SIDES OF W24)

CONNECTIONS.
FOR APPROVAL

WELDED CONNECTION MAY BE
USED IN LIEU OF BOLTED
SUBMIT DETAILS

|
\
1!

|

|

| \ 2

|

| (4) 7/8"® A325 BOLTS
|

|

|

(N) W10 COLUMN

717\ DETAIL COLUMN D.7—8.6 CONNECTION

3/4” SEAT PLATE o

3/4" LEDGER
PLATE

17 /

M1 1%'” 7 —
TYP. EA:
FLANGE 3/8”

0 SLIDE BEARING DETAIL AT GROUND FLOOR

(E) CAP PLATE

- AT (E) ED ROOF FRAMING

FLUSH W/ TOC

(E) w27

/(N) W14 COLUMN

(E) W14x90 COLUMN

N

OUTSIDE FACE OF BRICK

INNINS

3 S|DES>1—4%—\Q
A

DEPTH STIFF.

HORIZ. SLOTTED

4'—0" MAX

3/8°x12” x FULL —

|
W/ (2) 13/16" x 3" |
|

M/

Y

2 SIDES % /
W16

SEE ARCH DWGS.— I

PLATE

HOLES

2%

TYP.

8’
MAX

L5x5x% (CONT)

WINDOW SYSTEM,
SEE ARCH. DETAILS

778\ HANGING BRICK LINTEL DETAIL

3/4” — 1’—0"

1/4” CONT. BENT
PLATE

g

%6 ‘/3»@1211

PLATE 3/4"x12"x1'=2"
CUSTOM FIT WITHIN

FLANGES OF (E) W14
COLUMN

PLATE 3/4"x10"x1'—4"

SEE ARCH DWGS. FOR
ROOFING DETAILS, TYP.

\\1 1/2” ROOF DECK

3/8"x6"x12" STIFF. PLATE @
4'-0"0C

L4x4x1/4 @ 4'-0"0C

ERECTION BOLT, TYP.

3/4"¢ A325 SC BOLT, TYP., UON

SOFT JOINT (S.A.D.)

o N2 TYP. EACH
% 17 END
21

L5x5x3/8 @ 4'—0"0C (MAX),
TYP. W/ 13/16"°x2” VERT.
SLOTTED HOLE @ BOTTOM

3/16" 1/4"@8”

L2x2x1/4 x 3—8" LONG

\_~_/ OVER STRIP WINDOW

ORID

17_0}/277

EOS

3/4n=1 y_On

MIN |||

3/1 6» 1/4”@8”

| __TOC EL. 145'—10"

%ox 3-8

4'—0" MAX

EACH

35 VA'GE

LONG BENT PLATE

3/16" | /4"@8”

1/2"x6"x1'=5" PLATE ON

FACE OF COLUMN
L5x5x3/8 x 3'—8" LONG__\\ y

—X X —X —X —X .
mvm 3
[ua )
juari}
jia i}
i)
&)
rzzz27772)|
w18
|
3/16" |
I YRV 17 RETURN
\ 16
4”
MIN \
(N) W10 COLUMN

m SLAB EDGE/RELIEVING ANGLE AT PILASTER

\_~_/ AT GROUND FLOOR

3/4n=1 ’—O”

5/¢"® PUDDLE WELD @ 6" O.C.

(E) BRICK FACADE TO
REMAIN (SEE NOTE 1)

2" CAVITY

X X X X X X X X X X X X XX X X X XX X X

_\ 4 s
<

GROUT AS NECESSARY TO SUPPORT BRICK—\% e 4

Ba

—#4 DOWEL @ 2’ 0.C.
MIN. 6" EMBED.

2

EMBED. @ 2'-0" O.C.

W10 (SEE PLAN)J

C12 (SEE PLAN)_/ 4

3/4"® THREADED ROD s
EPOXY DOWEL 6" MIN. ?

STAGGER SPACI

NG

SECTION THROUGH CONCRETE WALL

oA

(E) W14 COL.

@ BEAN BUILDING

277
MIN

/4

/4" =

—10%"x12" FLUOROGOLD
SLIDE BEARING PAD

y 4 FC—1025-CS KL
' OR APPROVED EQUAL

\7”x9” FLUOROGOLD SLIDE

BEARING PAD

FC—1025—-CS JNRT JiCS AL
OR APPROVED EQUAL

%" SEAT PLATE

%" LEDGER PLATE

SECTION DETAIL: TEFLON SLIDE BEARING

(B

1/7" = 1'-0"
L5%5

\
‘I (N) W18 BEAM
| (N) W10 COLUMN
~ o
9|2 _ -
- f@]
A L o (N) W18 BEAM
1/4” PLATE /
— \
\
\ 1/2” PLATE
L5x5
PRECAST COPING
(SEE ARCH. DWGS)
1'=10" 1/47%11"x1" =11"
’ ” ” PLATE
PRECAST PANEL (SEE 1'-2%" | Th
ARCH. DWGS) 55 0 L5x5x% x 1'=10" LONG W/ (2)
| %" x 2" LONG VERTICAL
, L SLOTTED HOLES
|3 A 1 1/2" METAL ROOF DECK
I . NV / (SEE ARCH. DRAWINGS FOR
- ® ﬂ s ROOFING MATL.)
T0S EL. 157'-10" | -/ I L
B : % ” ”
T M. 11 /47 1737 MIN \TYP.
— v i : |l —
M |
EACH\_ %6 =
LEG Hs )

As

e

As N\

W G|

« o
3/47¢ A325 SC BOLT /

ARCHITECTURAL DRAWINGS)

HORIZ. SLOTTED HOLES

Ji'x8"x2'—6"+ CONT. PLATE (SEE
57x8"x1 = 2%" PLATE W/
(2) '%e"8 x 2”7 LONG

(N) W10 COLUMN

/"9 "\ PRECAST CONCRETE COPING SUPPORT DETAIL

———— -

/

3 SIDES

(N) W18 (USE SHEAR

TAB CONN. TO COLUMN)

\_~_/ AT LOBBY CONNECTOR

L6x6x3/8 x CONT.
TO SUPPORT

SEE
ARCH DWGS FOR
DETAILS

ROOFING.

3/4°8 A325 SC
50LTS © 1'-6"0C—__ ey

\ )

3/8" CONT. BENT PLATE W/ 13/167¢ x 2"

VERT. SLOTTED

F

3/16 ‘/2”@6”

3/4”:1 ,—O”

HOLES @ 1'-6"0C

TOS EL. 157'-107

L

(4) 1@ EPOXY ANCHORS

1y

%”x16"x16" BASE PLATE W/
(4)1%"¢ HOLES

1"+ GROUT

DEMOLISH PART
CONCRETE GRADE BEAM

(N) W10 COLUMN

REPLACE DEMOLISHED CONCRETE

I
OF (E) 5” SLAB TO EXPOSE

[N

<2

S DETAIL CONNECTION OF (N) COLUMN

AN
4 [N

(E) 5" CONCRETE SLAB

4

(2

D.7-8.6 TO (E) GRADE BEAM

(E) CONCRETE GRADE BEAM

EL. 145'=10" TOC
CONNECTOR FLOOR

(N) 6'/4" COMPOSITE DECK

(4) 7/5°8 A325 BOLTS.

(WELDING SHIM PLATES IS AN
ACCEPTABLE ALTERNATIVE TO

|

BOLTING).

(N) W10 COLUMN

EL. 143 -8"
TOC ED ROOF

Z

S(N) 147x14” SHIM

(E) 147x14” CAP PLATE WITH (4)

1”9 HOLES EA. WAY
TOR EL. 143'-8"

(E) W12x65 COL.

R V%Azj ] ﬁ\\q T ~—3 /4" STIFFENER PLATES
. [l y v~ e BOTH SIDESOF NEW W18.

__—(E) 6'/4" COMPOSITE DECK

PLATES

AS REQUIRED, WITH (4) 172
HOLES @ 5" EACH WAY

7“4\ VERTICAL EXTENSION OF COLUMN
Vi \_~_/ 8.1-D.7 & 8.1-E6 G
1/4” GALV. CAP e
PLATE. WELD ALL ) - )
AROUND, TYP. W, 11 1 Oy
2’-0"+ 7/¢"9 HOLES o
(SAD) - TYPTYP. —
7 . | Q © @
| _— LOUVER ASSEMBLY BY °o —% -
\J 7T orers, SEE ARCH HSSBx4 S
| DWGS. FOR DETAILS. .
i PLATE P—1
7 S (3/47%97x17=2")
§ - - (2) HSS8x4x1/4” 1'—4"
o) | L X4X —
= L7 | GALV. TYP. ot 117 |
o | 7/g"8 HOLES— ~
/‘ /‘ _ [ TYP. X
S - | ©
i /e o (3) C6x8.2 GALV.,TYP. o
L Wi4lcoL. | = T N o
: S VARV ©  7JSEE ARCH. | \
| | /4 S 7/DWGS. FOR | 3/4 CALV. BASE PLATE P-2
N N ROOFING | | 77— PWATE P T TR
| | DETAILS, TYP (/27 x10°%1°=47)
"o : | (N) w2t 8"x8” FLUOROGOLD ’ I : EYISTING. CONG
= | b/ SLIDE BEARING PAD | ROOF DECK. ]
2114 12 FC—1025-CS JiL 72— - V ' «
| I OR APPROVED EQUAL S ICATC ! LA o
o o |
. ] /L
7. f }
\4"x6” FLUOROGOLD |
wil D | e SLIDE BEARING PAD ERYYanS VARt Ve
" FC—1025-CS BNRT JCS il v J \
~ OR APPROVED EQUAL / (4>-%’® A307 THRU-BOLTS
3" SEAT PLATE » W/ NUTS & WASHERS. IN
_— 9” \4” 1/2" BOTTOM 1’¢ HOLES IN CONC. SLAB,
T %" LEDGER PLATE PLATE. P-2 LOCATED IN FLUTES OF

@ SECTION DETAIL: TEFLON SLIDE BEARING

(N) W14
I /COLUMN
8”x8” TEFLON (TOP |12
x (TOP) TTMIN.
—— | |
4”46” TEFLON (BOTT
X (BoTT) f*f(N) W21 [(N) w2t || (N) W21
3/4” SEAT PLATE BEAM - | | AR
, i S e,
3/4” LEDGER PLATE e at E— | e : N /
- %;/4/‘_/7_/2: ) < [’/ -— N 1
I
W W - ﬁ* 12 \ \LTEFLON SLIDE BEARING
e N " PAD ASSEMBLY
e
— T 9 3/,"%9"x1'=2" SEAT
PLATE—CUSTOM FIT
VP, EA. e E WITHIN FLANGES OF
3/ 1
FLANGE 3/~ 8 (N) W14 COLUMN
(N) w14 coL. 3/,°x10"x1’=4” LEDGER
PLATE
m SLIDE BEARING DETAIL AT ROOF

N

%"x8" CONT. PLATE, CENTERED
OVER VERT. L5x5 HANGERS

F

(2)3/4”% KWIK BOLT Il

4’0" MAX

SEE

|
1 |

2 SIDES>§—1%\ |

|
TYP. EACHN s N 2"
END> He E >

- i
‘© [

<

ARCH DWGS.—=

L5x5x% (CONT)
WINDOW SYSTEM,

SEE ARCH

. DETAILS

e | EXP. ANCHORS
TOC EL. 145'—10"
3
/,/ \/\ \
ol WIO T—Lexaxdh x 1'—2" LONG
_____ (LLV)
// ///

3/8"x6"x1'—0" CONN. PLATE

3/8" FULL—DEPTH STIFFENER ON BACK
SIDE OF W18 OR W21 @ ALL LOCATIONS
WHERE HANGERS OCCUR ON FRONT SIDE

w18 OR W21

3/8"x12"x1'=0" STIFF. PLATE W/ (2)

1

L

3/16"x3” HORIZ. SLOTTED HOLES

(2) 3/4"8 A325 SC BOLTS
5x5x3/8 KICKERS AT ALL HANGER LOCATIONS

L5x5x3/8 @ 4'—0"0C (MAX), TYP.

S

SOFT JOINT (S.A.D.)

— ¢ SKEWED W21

1"—2%"

W/13/16"x2” VERT SLOTTED HOLE @ BOTTOM
ERECTION BOLT, TYP.
3/4"¢ A325 SC BOLT, TYP., UON

1

VARIES

127 70 0"

11/2n — ,]s_On

SECTION: EDGE OF SLAB SUPPORT DETAIL

MAX

47_017

A

2 SIDES
Y4

As
Ao

TYP. EACH
END

SEE ARCH DWGS.—

00

W10

=

L5x5x% (CONT

WINDOW SYSTEM,
SEE ARCH. DETAILS

)

e ——

S|

3/8"x6"x1'—0" CONN. PLATE

. 3/8” FULL—DEPTH STIFFENER ON BACK
OR W24 @ ALL LOCATIONS

DE OF W21

WHERE HANGERS OCCUR ON FRONT SIDE

W21 OR W24
3/8"x12" x FULL—DEPTH STIFF. PLATE

W/ (2) 13/16"x3” HORIZ. SLOTTED

HOLES

(2)

3/479 A325 SC BOLTS

5x5x3/8 KICKERS AT ALL HANGER LOCATIONS

ERECTION BOLT, TYP.
3/4"0 A325 SC BOLT, TYP., UON
SOFT JOINT (S.A.D.)

m TYPICAL CURTAIN. WALL LINTEL SUPPORT DETAIL

5x5x3/8 @ 4'-0"0C (MAX), TYP.
W/13/16"x2" VERT SLOTTED HOLE @ BOTTOM

v AT EAST LOBBY CONNECTOR

3/4”=1 ’—O”

m TYPICAL CURTAIN WALL LINTEL SUPPORT DETAIL 1
v AT NORTH-=SOUTH LOBBY CONNECTOR  */«=1'-0
/E.é\
¢ 2'-8"
FACE OF BRICK % 2'-3"
VENEER—SEE o2
ARCH DWGS. Y
@I \
1" D i .
e B
©, W10 ofer  wio
4 i BEYOND i i BEYOND
7—w18 l_/_/'—W18
m SECTION: BRICK VENEER SUPPORTED
ON CONCRETE SLAB /a'=1-0"

N

(P

34

— 1’_07’

METAL DECK.

7“7\ SCREENWALL SECTION

GCRID
1'=6" MAX
SEE ARCH DWGS
SEE ARCH DWGS. FOR FOR OVERHANG
ROOF MATERIALS »
_\ 4~ MIN.
|
\ 3/16" 1V 2" @12"
N
‘ - TOS EL. 157°=10"
%" PLATE (CONT}/ \%” METAL
ROOF DECK
3/16" 2" @12” ==
R
m TYPICAL ROOF BLOCKING SUPPORT DETAIL
3/4"=1"-0"

N

General Notes:

1.

EXISTING BRICK VENEER TO BE TEMPORARILY SHORED
DURING INSTALLATION OF NEW CONCRETE SLAB.
CONTRACTOR SHALL BE RESPONSIBLE FOR MEANS &
METHODS OF TEMP. SHORING. AFTER SLAB IS CAST &
CURED, BRICK VENEER SHALL BEAR ON NEW CONCRETE

SLAB.

SGH

Www.sgh.com

dimpson Gumpertz & Heger Inc.

Consulting Engineers

Boston, MA

San Francisco, CA
Su

San Francisco, CA

94
Washington, DC

41 Seyon Street,
Building 1, Suite 500
Waltham, MA 02453

The Landmark at One Market

ite 600

106

1355 Piccard Drive

Telephone:
(781) 907 9000
Facsimile:
(781) 907 9009

Telephone:
(415) 495 3700
Facsimile:
(415) 4895 3550

Telephone:

Suite 220 (301) 417 0999
Rockville, MD Facsimile:
20850 (301) 417 9825
MARK ISSUE DATE DESCRIPTION
PERMIT 09/16/04 PERMIT SET
BID 08/26/04 BID SET
Issue Log
w4 7 2 |:_ F I
” ||| g CONNECTOR

TRO

A RCHITECTURE
PLANNING
ENGINEERING
INTERIOR DESIGN

The Ritchie Organization
80 Bridge Street

Newton, MA 02458-1134
617-969-9400

WV a

Maine Medical Center

Pkg F - Garage / Vault / Conn / Heliport
Portland, ME

MMC Project No. 21845

Drawing Title

LOBBY CONNECTOR
SECTIONS & DETAILS

e —

0 4 8 16’ 32
Commission No. 4678 | Date Issued 08/26/04
Scale AS NOTED | Sheet Number PKG_F
Drawn By SWw
Approved By JHT/JJZ 3331
Filename S330

Copyright © 2004

The Ritchie Organization




